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A wire carries a current of 2.0 amperes.
How many electrons pass a given point
in this wire in 1.0 second?
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In order to measure the current through an
electrical device, an ammeter is placed in
series with the device. Compared to the

el "T\ice, the ammeter should have
a|mugh

A peseahility

B higher pefmeanility

C . ower res/siance
D higher rgsistarice

A current of 3.0 amperes is flowing in a
circuit. How much charge passes a given
point in the circuit in 30 seconds?

Compared to the power dissipated in the
1.0-ohm resistor, the power dissipated
in the 3.0-ohm resistor is

~

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

A decrease
B increase
€ remainthe same

During derstonm, a ightping strike
transfers+~._ cpbu.c mMbs of charge in 2.0 x
108 second“What is the average current
produced in this strike?

A 1.7x104A
B 24x102A
C 6.0x10%A
D 96x103A

e .mmmmm

A increases and the current
through it decreases P

B jrcreTse =.and the current ( \
yugh, it ircreases \ I
C |dedreages anfl tha of ) (L
defregsas
D ireases 2nd4he currer -

dugh it incjease

How muchcurrent flows through'a 12-ohty
flashlight bulb operating at 3.0 volts?
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